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[TpeaMEeTHO-OpUEHTUPOBAHHbIE
A3bIKU
1 Lisp Kak cpeacTBo UX
MOCTPOEHUH
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UTo 31O Takoe DSL?

[MpegMmeTHO-OpUEeHTUPOBAHHbIN A3bIK
(Domain Specific Language) — 3TO A3bIK
nporpaMmMnpoBaHnUA orpaHNYeHHOM
BbIpa3nTenbHOCTU, POKYCUPYIOLLNNCA Ha
HEKOTOpOM nNpeamMeTHom obnacTu
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[ lpumep nporpammbl Ha DSL

Computer: ¢ = new Computer();
OroCessor: P = new Processor();
cores - 9 p.setCores(2);
type -- i386 p-setType(ProcTypes.1386);
diek c.setProcessor(p);
| d = new Disk();
Size - /5 d.setSize(75);
speed --7200 .setSpeed(7200);
interface -- SATA d.setIinterface(DiskTypes.SATA);

c.setDisk(d);

27



[lpencTtaBneHune

A3GIKEter:
processor:
-2
cores T CemMaHTU4yecKkas
type --i386
disk:
size --75 Computer
speed -- 7200 Processor
interface -- SATA RAM
Disk 1
; Disk 2
[ Texcr Beeaure Texcr
[ Texcr ‘ Beeaure Texcr




DSL 1 eDSL

BHewHun DSL BcTpoeHHbIn DSL

« PeanunayetcH * Peanusyetca Ha
cpeacTBamu 6a3e OCHOBHOIO
co3gaHusa All. A3blKa.

» Mpon3BonbHbIN » CuHTakcuc
CUHTaKCUC. OorpaHn4eH

« YyrKoii No CUHTaKCUCOM

OTHOLLEHUIO K XOCTOBOIO A3blIKa.

OCHOBHOMY si3bIKy ~ * TOT e A3bIK, Ha

2 G MPoeKTa. b6a3e KOTOpOoro
peann3oBaH.
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eDSL cpegcTBamMm java U ruby

computer()

.processor|) COmPUter(

.cores(2) processor(:cores => 2,
.speed(2500) type => :i386),
.i386() , ,

disk() dISk(ZSIZe => 150),
.size(150) disk(:size => 75,

.disk() : _

size(75) .§peed => 7200,
speed(7200) sinterface => :sata))
.sata()

.end();



Lpyron npumep DSL Ha ruby

[:computer,

Computer:

processor: [:processor,
cores -- 2 :cores, 2],
type -- i386 ‘type, :i386]],

disk: [:disk,
size -- 75 :size, 75],
§peed--7200 :speed, 7200],
interface -- SATA :interface, :satal]]

23
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Kak gobaBuTb ctoga ynpasnstoLime

KOHCTPYKUNIN?
computer() [:computer,
.disk() [:disk,
.size(75) :size, 75],
.speed(7200) :speed, 7200],
.sata() :interface, :satal]]

.end();
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Kak gobaBuTb ctoga ynpasnstoLime

KOHCTPYKUNIN?
computer() [:computer,
times(2) 2.times do |i|
disk() [:disk,

.size(75) :size, 75],

.speed(7200) :speed, 7200],

.sata() :interface, :sata]]
.end_times() end]

.end();



Mbl, nporpaMMuUCTbI, NpeacTaBnsemM ceds
20 BonwebHukamu, noBenuTensMu Koaa
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[lepeBo pa3bopa BblpaXXeHus

A+B*C
+/L>\
* B C
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[lepeBo pa3bopa BblpaXXeHus

A+B*C
(+/Al>)\
(» B C)
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[lepeBo pa3bopa BblpaXXeHus

A+B*C



c = new Computer();
P = new Processor();
p.setCores(2);

p.setType(ProcTypes.i386);
c.setProcessor(p);

Computer: (Computer
processor: (processor
cores -- 2 - (cores 2)
type -- i386 (type i386)))

16



Made with secret
alien technologY




Unless == not if

(unless (= a b) LLIaGnoH: unless
(do something)) [NapameTpbl: cond,
body
l (if (not (cond)
(if (not (= a b) body)

(do something))

14



Unless == not if

L1labnoH: unless
[lapaMeTphl: cond,

(defmacro unless body
[cond body]
'(if (not ~cond) (if (not (cond)
~body)) body)

13
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[Topaa0K BbINONMHEHUSA
dOYHKLMX N MaKpOCOB

Komnunauus
Makpochl

\ g

McnonHeHuUe
OyHKUNK




MHQUKCHaa HoTauus

(defmacro infix [argl op arg2]
(list op argl arg2))

(infix 2 + 5)
7/
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(for(i=0,i<3,i++)
(printin i))

(defmacro for [args & body]

(let [al (nth args 0) a2 (nth args 1)
a3 (nthargs2) a4 (nthargs3)
a5 (nthargs4) a6 (nthargs5)
a7 (nth args 6) a8 (nth args 7)]

(cond
(not (= al a4 a7)) (throw (Exception. "Use the same variable for the cycle"))

(not (= a2 '=)) (throw (Exception. "Use the '=' for the variable assignment"))
(not (contains? #{'> '< '>='<="=} 35)) (throw (Exception. "Use one of the
operators: =, <, <=, >, >="))

(not (contains? #{'++ '--} a8)) (throw (Exception. "Use one of the operators: ++,

--"))
:default (let [op (if (= a8 '++) 'inc 'dec)]
(loop [val ~a3] (if (not (~a5 ~al ~ab))
~al
(do ~@body
(recur (~op ~al)))))))))

10
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i"

"ll be back!



AHaopn4eCcKknm MakpocC
(defmacro not-nil
([expr then & else]
(let [result (symbol "result")]
‘(let [~result ~expr]
(if (not (nil? ~result)) ~then (do ~@else))))))

—
user> (not-nil (+ 2 3) (printin result))

5

user> (not-nil nil (println result) (println "The result
is nill"))

The result is nil!

038
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B C# 4.0 mbl obaBUNU
HOBYIO
dpaHTacTn4yeckyto

V'l BO3MOXXHOCTb:

bna-6na-onal
[IporpamMmmMucCThI



[Tpumep M.daynepa

SVCLFOWLER 10101MS0120050313

SVCLHOHPE 10201DX0320050315
SVCLTWO x10301MRP220050329
USGE103 x50214..7050329

KaK Bce 39TO pacnapcuTb?

06
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PasHble TUNbl — pa3Hble Nnons

SVCLFOWLER
4-18: CustomerName
19-23: CustomerID
24-27 : CallTypeCode
28-35 : DateOfCallString

USGE103
4-8 : CustomerlD
9-22: CustomerName
30-30: Cycle
31-36: ReadDate
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PaccTtaByM CKODOYKM...

(def-reader SVCLFOWLER
4 18 CustomerName]
19 23 CustomerlD]

24 27 CallTypeCode]

28 35 DateOfCallString])

(def-reader USGE103
4 8 CustomerlD]

9 22 CustomerName]
30 30 Cycle]

31 36 ReadDate])




(defmacro def-reader [class-name & fields]
(let [method i

methods

[($

(r

prefix (str
“(do (gen-clz
:name ~
:prefix ~
sinit "init
:state "st
:method

03

| "this"))))))

te this#)



1 package fowlertest;

2

3= import fowler.core.ThirdClass;

4

5 public class FowlerTest {

5

7= public static void main(String[] args) 1
8 ThirdClass t = new ThlrdCIass(),

g t.setData("01234567890abcdefghijklmn
10 System.u-..prlntln( < 3 fleldl() ) X
11 System.out.println( t.field2() );
12 System.-ax.prlntln( t tietd3f) =);:
31 - T

14 }

15

(def-reader fowler.core.ThirdClass
2 7 field1]

9 15 field?]

02 17 20 field3])




01 | lOMYBCTBYMU




00

Bonpochl



